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. & frm = ¥
1. The community development programme was | 1, m‘ﬂmﬁm faerra TR T IEeT

launched in the year ? w7
) 1950 (B) 1951 (A) 1950 (B) 1951
1952 (D) 1953 (C) 1952 D)

ored “To Sir, with Love”. 2. “To Sir, with Love ERrcE -
aipaul (B} Salman Rushdie (A) g, e [

?
3. What caused maxdum rainfall in the Indiansub | 3, e Sqmefey H atfus aut fhd wrRw L IR

- continent ?
(A) Western disturbynce
(B) Retreating Monsoo
(C) Jet Stream

(D) South - West Monsoon

/4 ; { i dard?
4.  ‘Pneumania’ disease is caused by ? 4. frefefea 4 9 fFa ﬂ‘“‘ﬂ
(A) Virus (B) Bactdyia /@ g (B) i

)
(C) Protozoa (D) Fungi . (C) WRmEhsT D) HAH

5. If COURSE is coded a FRXUVH, how is
coded in that language ?

WCE | 5. aft COURSE # gewr & FRXUVH foran s &
A A RACE =4 Fesmw & 3 forn s ?

5
{A) HEDU (B) UDFG / ‘\ {A) HEDU B) UDFG
(C) UDHF (D) UDFH (C) UDHF (D) UDFH
/ \ :
6. Pointingtoa man, a woman sai /,/"His motheris | 6.% TF T6§ @t IR TR T, U Wi 3 i,
the daughter of my mother’s ondy daughter” How
is the man related to that wéman ?

| e o 3 o o 4 7 34 & Y o

(A) Son
(C) Brother

) Father
(D) Grandson

7. Complete the serief :
DKY FIW HIU JHS . "
By LGQ
(D) None of these
8. CI}OOSE e word which best express the meaning 8.
of NEUTRAL :
A (B) Non-aligned
( Undecided (D) Indifferent
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10.

11.

12.

13,

14

15.

4
(©)

Accountancy

Acoountancy

Find the word which best express the
meaning of the word MEMORY

(A) Ignorance
(C) Remin

Indifference

(D) Forgetfulness

How many reflexive relations can be performed
on a set of n elements :

(4 2n (B)
(©) (D)

gn(n+ 1}

gn(n-1) on+1

Let (L, <) be a latice with binary operations
V and A and for arbitrary elements a, b, ceL, the
true statement is :

(4)
B aAbVO<s@ADA@Ve

aA(bBACYz2 @V B)A (aV e

€ aNn®VOz@VDbBV(@Aec
D) aAndVvCz@ADbV(aAc

In the Boolean algebra, the involution law is :
A (a)=a (B)
C) (a) >a D)

(a)=a

(a") <a

I & i a slupfe connected planar graph with n
vertices and e edges (e > 2) the true statement

18
@A)
(€) e<3n-6

(B) e<3n+6

(D)

e<3n-6

e<3n+b

If T is a binary tree with nvertices and of height
h. then true statement is :

@ h+lsns2ti-l
® h+lsns2Pii+l
© hlsnszttl
D) h+lsnszhol

13.

14.

15.

11.

12.

(B)
D)

Acountancy

'Acoountancy Acounttancy

(A) Ignoranc.ekr”
(C) Reminder

nm%wmﬁmﬁmm
wftefya ford o wea &

(A) 2n
(©)

(B) 2n(m+1

gn(n -1} (D)

on+1

T 6 (L, <) T S & 3R 9= LRV a1 A
fgenyrt wfpand wfiwfeg & 79 == sy
a, b, ¢ eL % fOQ W& vy B

&) aANbBACZ@VDA@Ve
B) aAbV O<{(aAbA (aV ¢)
(C) aAbBV O z@VbV @Ae

D) aAbV Cz={aAbV (aA ¢
et dremftrg # sraeer g §

A) @)=a (B) (a)=a
€) (@ >a D) {(a) <a

afE G T W gy quaely e B, e o o

T e B R (e > 2) O T FYT AN :
(A) e<3n-6 (B) e<3n+6
(C) e<3n-6 (D) e<3n+6

R RRIF T i n N g ga R T L T
Hed HYT B

() h+lsns2h-l-1
B) h+lsns2h+l+l
(C) h+lsn<2P+1
@ h+l=sns2®-1



16.

17.

18.

19.

20.

21.

A series 3 Un of positive terms is convergent if :

lim [ nlog—2—|>1
A n—® n+l
lim [ nlo i<l
®) n—® gI-In+1
In
lim | n log =1
© n—3 n+l
lim|nlo b <1
O R (ST

The series 2,

n=2 n(logn
A p=1 (B)
© p<l (D)

r is convergent if :
p>1
p=s1l

The region of convergence of power series
expansion of (1 + %)™ (m € R) in power of xis :
A -l1=sx<l1 B -1<x=1

© -lsx=<=1 (D) None of them

If f(x, y) be a homogenous function of x and y of

o  of

degree n then the value of x X 4 y— 1s:
ax ax

@ 1f B 2f

© 3f (D) None of them

Length of the chord of curvature perpendicular
to radius vector is :

2 e -p?)

21 P .
@A) T(rz—pz) B

. \ 2 s B
©) % (p2-r?) @ =ZE(p*-r?)

l

The asymptotes of the following curve
(x4 Byy+y)) (X +Byy +vy) + vz are :
Ay ax+By+v,=0
ayx+Poy+v,=0
B) ax+py+y,=0
wpx— Poy—v,=0
©) oax+pyxy,=0
wpx = PBoy+y, =0
D) o x=Py+y,=0
apx* Poy+vy,=0
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16.

17.

18.

19.

20.

21.

TF URTF T3 & 1S It $Un StfvErd Bt 4l

(A) nh_r’nw n log Unr-:l >1
(B) nh'_lgnw n log Lj:l <1
(©) nh_r)nw n log n'll =1
(D) 31_1:300 n log Unil <1

s — 1 afumrd d i

n=2 n(log n)P
@A p=1 B)
© p<l D)

p>1
p=s1l

(1+x)™ (m ¢ R) &t x I 96 § 19 401 TR H
aﬁmw%am

@A -l=x<1 ®)
© -l1<xs1 (D)

-1<x<1

T 9 FIE TRl
AL f(x, y) TR x THT y T n TG GHEG Bor o A

ox ~ox

Ay 1f ® 2f

© 3f O T ®E T
AT TG YT T Sehal S Shi oeTe
@A) 2Tl (r2-p*)  ® ? (r*—p?)
© L) @ Eb-r)

THE (ax+Bry+y)) (agr+Byy +yp) +v3=0
S=TEafyiar B
A ax+py+y,=0

apx+ Py +v,=0
B ax+By+y,=0
ayx—Byy—v,=0
©  wx+Byxy,=0
Qg% —Byy xy,=0

D) apz=pryty,=0

P.T.O.



22,

23.

24,

25.

26.

27.

For the curve (x~2)2=y(y—1)2 the point (2, 1)
is :

(A) Acusp (B) anode

(C) aconjugate point (D) None of these

The wvalue of the double integral
1.2

jo IO (x+y) dxdy is:

A) 6 B) 5

C 4 D) 3

The equation of a cone of second degree which
passes through the axes of co-ordinates is :

(&)
®
©)
D)

o . x
Intrinsic equation of the curve y=a log sec (—J

is:
(&)
B
(©
(D)

[xy+egyz+hzx=0
[rz+gzx+hxy=0
fzx+gxy+hyz=0
None of these

s=log (sin¥+ cos ¥)

s=log (sin¥+ sec¥)

a

s=log (cosec¥ + cos'¥)

s=log (sec¥ + tan¥)

The equation of the sphere passing through
(0,0,0), (—a,b,c),{a, —b,c)and (a, b, —c)is:

(A)

(B)

©

@)

2

2yt x Ly
a?+b%+c? a b
244 2y
a?+b*+c* a b

2

Jc2 +y2+z x y

a2 +b?+c® a b

ZHyi4zt x oy

a?+b?+c? a b

The semi vertical angle of a right circulaxf cone
admitting sets of three mutually perpendicular

generator 1s
A) tan”lV2
©)  sec”'V2

®)
D)

cot™1V2

cosec F2
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22,

23.

24,

25,

26,

27.

T (-2P=yy- 1?2 FRwfage i
(4) T ® TEAS
© whgmfeg (O THIFET

fe= aomRem J.;L?(x-%-y) dxdy 1 917 2

A) 6
) 4

B) b
D)y 3

39 fgerdt WiF 1 et S A R @ de
TR & P

(A)
B)
(€
D)

[xy+gyz+hzx=0
fyz+gzx+hxy=0
fzx+gxy+hyz=0

T A 5 T

oTF y=a log sec (g} T S G B

(A)
(B)
(©)
D)

s=log (sin¥+ cos¥)

s=log (sin ¥+ sec¥)

s=log (cosec ¥+ cos¥)

s=log (sec¥ + tan'¥)

(0,0,0), (—a,b,c), (@ —b,c)T(a, b, —c)fagHq
TSR T TSt T THIHTO B

A

B

©

O

x2 + y2 +zZ x ¥

al+bf+c?  a b

x2+y2+22 x y
S,z o2ty
a“+b“+c a b
xz-i-y2+z2 x y
..z a1y
a“+b“+c a b

Z+y?+z2 x oy
a? +b?%+c?

T T I UF F A TR TR = 2 @S
e =TT T W AT

(A)  tanlV2
©)  seclV2

(B)
D)

cot 12
cosec” V2



28.

29.

sl‘

32.

The volume of the parallepopiped formgd by
three conjugate semi diameters an coterminous

edgesis:

Y b® ol
a’? 0 0 0 22 0O
@A |o 22 0 ®) o
) 0 0y
0 z
2 o o 2 o of
2
0
© |7 9 o |[°" 9
0 0 2 0 0c

The real centred circular sections of the ellipsoid
22+ 2y2+6z2=8are:

Y
(B)
©
D)

x+z=0,x-2=0

x+22=0,x—-22=0
2x+2z=0,2x-2=0
2x+2z=0,x+22=0

If at any iteration of the simplex algorithm,
2-¢ < 0 for atleast one j and for this
by < 0 % i=1, 2, .., m then if the objective
functlon to be maxlmxzed the problem has :

(A) an unbounded solution

(B) abounded solution
(C) a finite solution
(D) None of these

If x and y are any two positive real numbers
then 3 neN such that :

A)
©

x>ny

(B)
D)

nx>y

x>y None of these

Every compact subset of real numbers is :

(A) Openand bounded

(B) Open and unbounded
(C) Closed and bounded
(D) Closed and unbounded

25-Mathematics

28.

29.

30.

1.

32.

ofe e ot st foel Wewer A

FN B A TIHEF T AT B0
. %
2
a2 0 0% b °
0 « 0
2
@A lo 2 o (B) ) 2
0 2* Y
o o 2 o off
2 2
0o o0 2% 0 0 ¢

G o2 + 2y? + 622 =8 F ATEAAH brd JAA
TfesT B

(A) x+2=0x—2=0

B) x+2z=0,x-22=0
C) 2x+2=0,2x—2=0
D) 2x+2=0x+22=0

Iz frreres e o 1 1 0 % 7H % fag
z;—c, < 0 WIS B & 90 WA & j F AA & fAq
y3<0¥i=1,2 ., m T 3T HeH H uHT
w0 & @ THE B e o

(A) T I 7
B) T IREs e
© THIRFmE
(D) T ¥ AR T

R = Ay q o TwE T@ A A T

WIFd o foeem 2 & R @ i

@A = >nyi‘ B) nx> y

© x>y D) THIHE T
¥ J

&) faga Wﬁam _f,‘;

-
kg

(C) WW?::Z ¥

o

P.T.O.



33.

34.

35.

36.

31.

Every bounded sequence has :

(A)  Convergent sub sequence
(B) Divergent sub sequence
(C)  Oscillatory sub sequence
(D) None of these

If a funetion f is continuous in closed interval
(a, b] and f{a) and Ab) are of opposite sign then
there exists at least one point ¢ e(a. b) such that :

(4) flo£0 (B)  fley=0
©) fo=>0 D fle)<o

A real valued function f be defined on [a, b]. Iff
1s differentiable at every point of [a, b} then f*
takes on every value between :

(A)  f(a)and f(b) (B)
(C) f(@a)and f'(b) D)

f'(a) and f(b)
f'(a) and f'(b)

Let f be a real valued bounded function defined
on [a, b]. A necessary and sufficient condition
for the function to be R-integrable is that for each
€ > 0, there exists a partition P ¢ [a, b] such that :

(A) U P)-L{¢, P)>e
(B U( P)-L{. P)<e
(C) U¢,P)-L{ P)=c¢
(D) None of these

Let Un (x), neN be a real valued function deﬁr'led
on domain D. Then the series of function

iUn(x) is uniformly convergent if and only if

n=1 N "
ach ¢ > 0, 3ng(e) such that n=n, whic

for e
implies that:
G W <eWxe
) g+ s U <6
D,peN
. N >eVxe
(B) iUnH“’Hn+2"’"+---+Un+v‘
D,peN
B (t)‘ = € Vx
© |Un+l(x)4_-bn+2(x)+"'+U"+p
eD,peN
(D) None of these

o Matheml@ticd

33.

34.

35.

36.

37.

T UREE ST 1 T :
(4)  SIERY SUTTHA o §
(B) YERI IUTHY T &
(C) SATHHRT IUhY Bial &
D) T4 4 8 T

A Th T £ FYA ST [a, b] F Wad T AW fla)
a f(b) forafta for =t 2 At o9 @ =0 o T fag
cela, b)ﬁ'ﬂ"?ﬁ'ﬁﬁﬁ?%ﬁ:

(A) fley=0 (B)
€ flo=>0 (D)

flc)=0
fle)<0

OF qdfash qH ©e £, {a, b] R IRfwa ¥ afs 7
, [a, b} ¥ TF g W smweHa e A A %

T TAF A T80 Hldl ¥ -
(A)  f(@) T f(b) (B)  f'(a) T4 f(b)
(C©) fl@ads' k) D)  f'(a) T4 F'(b)

T £, {a, b] ¥ 9Riya ufteg arefas 7F e §1
el fF R-AHsReH1a 81 & foag eavas a9 vaia
Y aE & 6 U ¢ > 0 F AU Tk A P e {a, b)
fomm e O -

A UFP)-LEP) >e
B) U P)-L(f, P)<e
(C) UFEP)-LEP)=¢
(D) T ¥ HE T

A % Un (@), neN W= D R 9ioaifq arafas

A Fed &1 9 e H AR iun(x) T THI:

n=1

afm%qﬁafnmaﬁmpo%ﬁmanu(e)

AR 0> n, 6 Frew FE

0 |Un+1(")+Un+2(")+...+Un+p(-")|<ere
D,peN

(B) |Un+1("‘)+Un+2(")+...+Un+p(~")|>ere
D,peN

© Uy @W+U, 0+ et Upp P = e ¥ x
eD. peN

O T dwE T



38.

39.

40.

41.

42,

The series 1 converges uniformly
n® +n® x

% xwhen :

@A p>0 B) p>1

€ p>2 D) p>3

Let X be a metricspace. Then for any two subsets
Aand Bof x:

(A) AUB
(©) AUB

B (B AUB
B

u
|
o

D) AUB

"
>l

U N
U U

||
>
o]

Integrating factor of differential equation

dy
+y+1 =]1is:
(x+y+1)=2 ir
A) e B) e
€C) e* D e
DO+ AYy=0isequal to:
_Md,j'r“ Ax ?\x}
e €y cOS—=++C9y SIn
(A) ] 1 ﬁ 2 J§
[ Ax x
+e}"’d‘/§ Cy COS—=+¢C sin—]
TR R
a2 Ax . hx]
e €y CO8——Cy SIN—
B) ] 1 ﬁ 2 \/E

x Ax
+e — M2 [c cos—wc4sm—--]

V2 V2

YD) Ax )\x}
Cy COS—=—"Cs sin
[ £ Pk

Ax . Ax
+e“l‘/§ {Cg cos——-+ c4sm—]

V2 V2

©

(D) None of these

The general solution of differential equation

a
y=px+— 18
p
[ a
= —_—— = -+ —
(A) y=cx o ®B) y=cx -
C Cc
=Y — — =y+—
€ =x=y a D) x=Y a

25-Mathematics

38.

39.

40,

41.

42,

ot Z___l__z x & |t arafas el ¥ fAg

nP +nt x

T 9aM Al & s&fF

A) p>0 B) p>1

(€) p>2 D p>3

o X U g gafe ®) w2 F R S
IqqY] A M B & fog

(A) AUB=AUB B AUB=ANEB
(©) AUB=AUB ®O) AUB=AUB

e TRl (x+y+1)gx—1 I O
?17)“: e¥ (B) e~¥
€) e~ D) e*
D+ A\ Yy=0 TR T :
(A) ¢ V2 icl cosz\/i+c2 smb%]
+er 2 iC3 cos;:lé+c4smj>;]
(B) e"""d‘ﬁ icl cos%—q sin%:‘

Ax
+e )"d"r[c cos—x—c sin ]
1T TR

(©) “"‘f[c COST;C—CQ smi\/g:‘
LerV2 Ax Ax
[c cosﬁ+c4st.2_:‘

D) T 9P T

7 Tl y=px+ 2 FATH AL :
P

(A) y=cx a B) Yy c:1c+C
© x*=y-- D) = J’+a
P.T.O.




43.

44.

45.

46.

The solution of simultaneous differential
equations :

DO-Nx+y=0

(D-5y—-2x=0

are :
(A) x=e3(acost+bsint)
y=e 3 (ccost+dsint)
x=e (acost+bsint)
y=e Y (ccost+dsint)
x=e M (acost+bsint)
y=e% (ccost+dsint)
x=e% (acos t+bsint)
y=e% (ccos t+d sint)

®)

©

(D)

The complementry function of the differential
equation (D3 + 1)y=(e*+ 1)2is :

(A) Cle"‘+e""'2 Ccos£x+dsini§-x
- 2 2 -
®) Clex+e_'ﬂ2 Ccos£x+dsin£x
- 2 2 -

Cre " +e 2 Ccos£x+dsin—J—§—x
© 2 2

D) C,e” +e"2 [Ccosgaﬁdsmgx]

The complete integral of partial differential
equation q = e Pig:

(A) y=oz+e¥ix+y
(B) z=ax+e ¥ yiy
(C) x=-ay+e¥@z4vy
(D) None of these

The solution of partial differential p2+ g2 =x+y
is:

A) z=§(a—x)3’2+-§(a—y)3’2+b
(B) x=§(a—y)_3’2+-23—(a+z)_3’2+b
©) Jf=§(a\—z)2’3 + %(a-—x)m +b
D) z=§(x+a)3’2+?3-(y—a)3,2+b

25-Mathematics
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43.

44,

45.

46.

I TEHA THHTT
D-Tx+y=0
D-5)y—-2x=0

* BA B :

(A) x=e3(acost+bsint)
y=e 3 (ccost+dsint)

(B) x=et(acost+bsint)
y=e % {ccost+dsint)
(C©) x=e *(acost+bsint)

y=e% (c cos t+d sin t)
D) x=e% (acost+bsint)
y=eb (c cos t+d sint)

FHEEHT THEHO (D3 + 1)y =(e*+ 1)2 T [ e
B :

(A) Ce " +e"2 Ccos£x+dsin[3—x
‘ L 2 2 |
vz [ V3 V3 ]
Cie*+e ™2 [C ¥3 +dsin—
@) Cie"+e cos—~x-+dsin— x-

© Ce™™ +e Y2 [Ccos§x+dsini§—x]

(D) Cie* +e¥2 [Ccos§x+dsin—\g—§x]

T STFHS HHIF q = e ~P/2 Ty fafere aorewer
m

A y=az+te¥2 x4y
(B) z=ax+e ™8 yty
(9 =—ay+e¥iz+y
(D) T q FE T

HITIF SHTFel THIH p2+ q2=x+y FI AL :

(A) z=§(a—x)3’2+~§-(a—y)3’2+b
(B) x=—§—(a— y)3/2 +%(a+ 32 4
© y=§(a_z)213+§(a_x)2,3 +b
D) z=§(x+a)3/2+§(y—a)3’2+b




47,

48.

49,

50.

61.

52.

b3.

b4.

The value of A(x~1) 2x~1) (8x—1)is:
(A) 33 B) 34
(C) 356 (D) 36

Given e¥=1, ¢! =2.72, ¢2=17.39, ¢3=20.09,

4
e?=54.60, then the value of I e*dx by
0

numerical integration is :
(A) 53.873 B)
(C) 51.873 D)

52.873
50.873

If ;=xi+yj+zk then curl r is:
A) 0 B) 1
¢ 2 (D) 3

S denotes the sphere of radius a with centre at

origin, then J. L . dais equal to :
S r3

A = B 2w
© 31T D) 4w

The generators of the group < G={0, 1, 2, 3, 4,
5},.+ g > are:

A4 1,6 B) L5
€ 14 @) L3

Every homographic image of a cyclic group is :
(A) abelian group B)
(C)  cyclic group (D)

symmetric group
None of these
IfG=<{1, —1,1, —i},->and N=<{1, —-1},.>
then quotient group % is:

(A4) {Ni, Ny (B)
© NN D)

{N, Ni}
None of these

The quotient ring of R with respect to the ideal
I, where R=Z,1=3Z1is:

A) {II+0,1+1,1+2}
@B {I+0,I+1,I1+2,1+3
(© {+1,1+2,1+3,1+4}

(D) {I+1, I++/2, 1+/3, [+5}
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47.

48.

49,

50.

51.

b2,

53.

b4,

A3(x— 1) (2x— 1) (3x— 1) 1 W BT :
(A) 33 B 34
€ 35 (D) 36

gfg =1, el=2.72, ¢2=17.39, ¢3=20.09,

4
e4=54.60,a’tj e dx = HEEF T g
0

g AT ;
(A) 53.873 B)
(C) 51.873 (D)

52.873
50.873

I ;=xi+yj+zk?ﬁl curl r B :
@A 0 @ 1
€ 2 (D) 3

S TF Tien ¥ Forweh! e o 9o F qE g |

j%-damqﬂé}"ﬁ:

Sr

A) = B) 2
(C) 3w D) 4w

TR < G=10, 1,2, 3,4, 5}, .+4 > % T 8 :

(A) 1,6 B 1,5

€ 1,4 D 1,3

WF W T4 1 GEERR) Wil g €

(A) TS 3™ (B) wufed yu
(C) =AY O) 79I HE T

g G=<{l, —-1,i, —i}- > MN=<{1, -1},.>

7 oy wge % g
(A) {Ni, Ni} B) {N, Ni}
(©) {N,N} (D) T AFE A&

fq9T awd R % TUNTEfd [ % W09 W& R=2Z,
1-32 ¥:

(A) {LI+0I+1,1+2)

@) {1+0,1+1,1+2,14+3}

© {+1,1+2,1+31+4}

D)  {I+1, I+2, I1+43, I+5}

P.T.O.



56.

56.

57.

58.

69.

60.

61.

R=<{0, 1}, +,, X, > be a ring. Then the
characteristic of R is :

@Ay o0 B 1

) 2 (D) None of these

A necessary and sufficient condition for a non-
empty sub set W of a vector space V over a field
Ktobe asubspace of VIK) xe W, ye W, a e K,
BeK.

(A) ax+ByeW (B)

© (@+B)-(x+y)e W(D)

af+xyew
None of these

If V is a finite dimensional vector space fis a
homomorphism of V into itself which is not
onto. Then for v#0 in V such that :

(A)  fw)=0 B) fL=0
€ fu=1 D)y flvy=-1
In the region, f(z)=2z2 is uniformly continuous,

where as f(z):—l» is not so, the region is :
4

Q) |z>1 B [|z<1
) |74=1 (D) None of them

The invariant point of the following bilinear

transformation W=32_4 18 :
z—1

@ 1 B) -1

© 2 o) -2

Cis given by the equation |z— a|= R, the value of

the J-zd—za 18

Cc
@ 27 ® -2
€ 2m D) -2

22

If f(z)=(z-—a)(2—b)(z—c)’ then residue of f(2)
atz= o is:
A 1 B -1
© 2 Dy -2
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56.

56.

57.

58.

59.

60.

61,

O @+p) G+ e WD)

R=<{0, 1}, +,, X, > TF 74 &l R 1 aAfireteqor
g

A 0 (B) 1

¢ 2 O) T Q BE T

IMEYEF TF gAw wiaery v V (K) F1 O i
IMETEA W, VR K IR D xe W, ye W,
aeK, BeK:

A) ax+ByeW B) ap+xyew

TH QR

Iz V o i fem g yafe dam va wg o
£ AT & S fon STTeSIEe TET € 9% 1S v0, veV
39 TR '@%ﬁ :

(A)  fw=0 (B)
C) fin=1 (D)

fw)#0
flwy=-1

W B, flz) = 22 T HAA Wad & TaF f(z)=L w
4

A e TR e ag W e :
A) lz>1 B) o<1
€ e = (D) T JHE Tl

A 1 B -1
o 2 D)y -2

C F1 T |z —a|=R 9 J'zd—za FARE
C
a 2w B -2w
© 2m D) - 2mi
22
?Jﬁ:f(2)=(z_a)(z__b)(z__c),?ﬁf(z)ﬂﬂz=oo‘H
Y B
@ 1 ® -1
© 2 @ -2




62.

63.

64.

65.

66.

It £(2)=2"222% then singularity of f(z) at z=0
is :

(A) Removable singularity

(B) Essential singularity

(C) Isolated singularity

(D) Pole

The Laurent series expansion of the function

f(z)= ) valid in the region

1
(1-2z)(z-2

1<|z|<2is:

(A) gn+1
B) Z Z 2n+l
n=1 n=0
(C) Z Z 2n_+l
n=1 n=0
(D) Z} z:: n+l

The bilinear transformation which maps the
points z= o, 1, 0 in z-plane to w=0, 1, ® in the
w-plane is :

0 |-
_—
==}
N’

@ w=

W=

C 1

© z z
The number of elements in the array int f [4][8]
18 :

A 12
© 32

(B)
()

16
64

If a particle is moving along the circle of radius
a and centre of the circle be taken as pole then
the radial velocity of the particle is :

a4 0 B 1
(C) 2 D) 3
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62.

63.

64.

66,

66.

o £(2)=2"522 3 1) W1 2= 0 AR
4

A  3rgy fafaam
B) fwara fafasa
(€ fagw fafasa
(D) 3as fafe=a

311 < |z |<2® @9 &1 &U 19X M

1
(1-z)z—2) °

flz)=

(A) n+1
(D) le 2“1

2-90dd § fagafi z= », i, 0 1 w-T9aa 4§ fagait
w=0, i, » R yiafaf@ s aeh g as s

) 1
@) w=- B w=--
i —i
© w=; D) w=—
TR int £ [4][8] T sTaad) ® g1 At -
(a) 12 (B) 16
© 32 (D) 64

I Tk HT a 51 & ga i 9fd W =
W T F H P Y WS G H H A A7 207

A o ® 1
€ 2 D) 3

P.T.O.



67.

68.

69.

70.

A point moves in a straight line with S.H.M has
velocity v; and v, when its distances from the
centre be x, and x,. then the period of motions
18

22 22
1 —%3 1 — %2

@A 7 xz_xz ® 27 x2—x2
UZ_UI Uz—Ul

5 xf—x3 s xZ —x2

© e D *TTeTs
U2 Ul U2 Ul

A particle 1s projected from a lowest point A
inside a smooth verticle circle with a velocity just
sufficient to take it to the highest point B, the
pressure at the lowest point A is :

(A) (B)
(© (D)

dmg 4 mg

5 mg 6 mg

If the density of a thin rod varies as the distance
from one of its ends, the moment of inertia about
an axis passing through that end at right angle
to the rod is :
(A) Ma?
(C) 3Ma?

2 Ma?
4 Ma?

(B)
D)

The moment of inertia of a semi circular lamina
of mass M and radius a about a tangent parallel
to the bounding diameter is :

2(5_8 2(5, 8

o ow(t) w3l

2(5_3 (5,3

© Ma [4 S'n') D) Ma (4+81r]
-0Qo-
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67.

68.

69,

70.

TF FU TS G4 i 9 Tk T W@ R/ Ta|E §
T FN HHFR A x, T x, T T T A
FHA: vy T v, § T T Hre B

{ 2_ .2 2_.2

(A) T o ] (B) o Xy —X3
2_ 2 2_ 2

Vg =1y Vg —U

xf — 3

% =3

3

2 2 2 2
Vg =Y vy —1h1

MEFNHR A AGAATWS 0. TG HH
W A waifim fofan w1 % 9% A% 99 % wdg

fag B 7% 9§91 Freram fag A W a2
(A) 3mg (B) 4mg
(C) 5mg (D) 6mg

e frdt Taeh BT H YA WS R AW F
[ € W 36 @ wiE: 5% o et o %

TfiE: e - ﬂﬁ?f 2
(A) Ma? (B) 2Ma?
(C) 3Ma? (D) 4Ma? .

TEAA M 91 B0 2 99 AT Wa F I
I B o TR WY % Wi 9ga St

am -

(A) Maz(g—;—“] (B) Maz(g-&-%]

© Maz(g—siw] D) Maz(g-i-si“)
-00o0-
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